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_______ and _______ take Oliver into London to teach him how to _______ 
from passersby. _______and _______steal a handkerchief from Mr _______. 
The two pickpockets abandon Oliver, who is next _______ for this crime. 
Oliver is not _______ in court because the bookseller enters the court and 
announces that two other boys committed the crime. Mr _______ next finds 
Oliver who has _______ in the street outside the court. Mr _______ takes 
Oliver _______ to care for him.

Home Jack Dawkins Punished Brownlow

Charley Fainted Pickpocket Arrested

Fill in the gaps 


